F/NEE ERERRES TR 30% 38 1H~ 38 7H (48 30% 18 148~ 30% 18 208)

X S x 11424y | Hua 1TE1#HBYE B E(b)
- £ i “ > ., = g
X -5 RIEMEM (V) BE=E () [SE B B B A=
i34 — — — 5 18
RE
5 — — — 3 2
it 4
— — — 9 14
7 B
W%z — — — 15 12
BEEER AR AES T 30% 38 1H~ 3H 7H (48 30% 18 148~ 30% 18 208)
BE *-% MES |18 1#u4Y| B 1TEHI1#HMUYEEE ko
ma| TR | qm | NET ke BEEGe | BM| # = 5 &
P SERE | AWM 25 A 250 63 2 18 140
S s | A 25 A 155 155/8| 1 5,134/8 2. 418/H
EEHI X X ¥ X 211
AE&H 77 8~ kg 3, 896 390 5 182 1,612
EEME | A& A 77 8ke 9,086 1,514 6 467 3,474
EfAF P DG DG 78 125
SERE | AWM 117 51 5 01 67
E=FRA 14+ 300~400¢ 528 132/8| 4 32/H 129/8
—gy | deMEE 1% 250~400¢ 2817 13 3 12 13
itk 545 7Y — — — — 20
e | JEm/MEE | THLY 1,279 67 2 47 42

A CAFEDO 1B 1#HAYREEFRNIERADHEEZ T,
x B[ /B X, 1BEE-YDEBKEEETT,
X FEMAEH

[(EBH/KBIEHRR] =resmrasy

¥k 304 38 1H~ 38 7HODOFHKE

#h £ K B Bl E = Al £ = EoF OE
& B 13.9°C — —0.2° +0°C
A EAH 13.9°C +0.3°%C —0.5°C —0.4°C

I FEEFSHOEEFEE BE 10 FHOFIE) LnE.



GBEAKEIEIER] wost arsgis (5255

FR30F 38 1H~FER304F 3A 7HOFEHKIE
XKALBEKELI D TRERKEEHRE,

K B B B E T oFEOE
XE®R 14.7°C 0. 5°C 0. 1°C
EaloTricp 15. 2°C 0. 3°C 0. 1°C
L5 16. 6°C 0. 8°C 1. 0°C
e FHI0E
29 s WAL 3 i‘-'l- % i
26 —— T4fE
23
20
17
14
1 : : : : : : : : : :
1/1 2/1 31 5/1 6/1 /1 8/1 9/1 101 11/ 12/

! !

!

1/1 2/1 3/1 5/1 6/1 7/1 8/1 9/1 10/1 11/1 12/1

¢ FRi305

2 s T 20 B R

26 —— 4B —

20

17

14

1 : : : : : : : : : :
1/1 2/1 3/1 5/1 6/1 7/1 8/1 9/1 10/1 11/1 12/1

XEERITABRITRT ER: A  HEBEF: B EEi#: C)

KEFEILBE S FRIDFYIE,




